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CO BL
Q1 (a) What is meant by variable machine cycle? How is it achieved? [2] CO1 L2
Q1 (b) Write an 8085 based program to implement the function F= 8 xY + X/4 [3] CO2 L4

Where, X and Y are the upper and lower nibbles of the byte stored at location
‘DATA’. The Function (F) is to be stored from location ‘RESULT’ (space two
bytes).

Q2 (a) Write an 8085 pp based program to clear all the flags of 8085 pp without affecting [2] CO2 L4
the contents of accumulator.

Q2 (b) Write down the addressing modes of 8085 pp with suitable examples. Explain the [3] CO2 L1,
stack operation while executing the following instructions assuming the stack L2
pointer is initialised to 27FFH
i) PUSH PSW, ii) CZ 3000H

Q3 (a) Explain the following pins of 8085 pp with their brief description, [2] CO1 L1
RD, WR , ALE, I0/M
Q3 (b) What is meant by folded memory? How it could be avoided in a reliable [3] CO3 L2,

microprocessor system? Interface the following with the 8085 pp and use decoder L4
in your design

i) 2KX 8 ROM chip 1 No. (Starting address 0000H)

ii) 256 X 8 RAM Chip 2 Nos. (Starting address 2000H)

Q4 (a) Write an 8085 based assembly language programme to generate square wave of 50 [2] CO2, L4
Hz frequency from the SOD (serial output data) pin of 8085 pp. Assume a delay COo3
subroutine ‘ONEMILISECOND’ is available already.

Q4 (b) Differentiate between Hardware and Software interrupts by clearly mentioning [3] CO1 L2,
the applications of both. Write down all the steps taken by the 8085 pp if an L3
interrupt is received at RST 6.5 pin.

Q5 (a) Why is an El instruction always written before the RET command of an Interrupt [2] CO1 L2,
Service Routine (ISR)? Write down the four different ways of disabling any L3
interrupt.

Q5 (b) Using RST 7.5 interrupt, input 10 bytes (in BCD) through port number 10H. write [3] CO2, L5
an ISR to input each byte, divide it by 8 and store it in locations starting from CO3
DIVIDE (space one byte only). Ensure that interrupts are disabled after receiving
10 bytes.



